Adding and Subtracting Rational Expressions

But first, a little refresher on multiplying and dividing rational expressions…

Simplify and state restrictions :
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Adding and subtracting rational expressions is done in a similar way to adding and subtracting rational numbers (ie. Fractions). Try the following questions. In each case, try to find the lowest common denominator (LCD), and try to figure out a system for determining the LCD.
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The lowest common denominator (LCD) is made by multiplying all unique factors from the denominators.
Now some examples of how to add/subtract rational expressions. Simplify and state restrictions :
f) 
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